Service Provider: Tigers Childcare - Bettystown

Programme Year: 2024/2025

Status: Active

Fee Options

Fee Type Name	Age Range	ELC/SAC	ECCE Available ?	Session Start Time	Session Finish Time	Second Session Start Time	Second Session Finish Time	Incorporated Services?	Choose Incorporated Services	Additional Information	Hrs per Day	Days per Week	Hrs per Week	Full Fee	Fee (with ECCE deduction for 3 free hours)	Effective From	Effective To
ECCE (No Capitatio n)	2y 5m - 5y	ELC	No	09:30	12:30			No		ECCE only (No Capitation)M onthly fee €418 paid over 10 months for 38 weeks	3	5	15	110		16/09/2 024	31/08/2 025
Full Day care under 2 years	0у - 2у	ELC	No	07:30	18:00			Yes	Meal	Weekly fee is €161.00 Fees are paid in equal monthly installments via direct debit. Monthly fee is €684.25 over 51 weeks	10.5	3	31.5	161	0	05/08/2 024	31/08/2 025
ECCE Only Class	2y 8m - 5y	ELC	Yes	09:30	12:30			No			3	5	15	0	0	05/08/2 024	31/08/2 025
After- School Only (2 days per week)	5y - 15y	SAC	No	14:00	18:00			Yes	Meal	Weekly fee is €48.00, Monthly fee is €204 per month over 51 weeks	4	2	8	48		26/08/2 024	31/08/2 025
After- School	5y - 15y	SAC	No	13:40	18:00			Yes	Meal	Weekly fee is €91 Monthly	4.33	4	17.32	91	0	04/11/2 024	31/08/2 025

Only (4 days per week)										fee is 386.75 over 51 weeks							
Before & After School (5 days)	5y - 15y	SAC	No	07:30	08:30	13:40	18:00	Yes	Meal	Weekly fee is €129.00 Monthly fee is €548.25 over 51 weeks	5.33	5	26.65	129	0	04/11/2 024	31/08/2 025
Before & Aftersch ool (4 days)	5y - 15y	SAC	No	07:30	08:30	13:40	18:00	Yes	Meal	Weekly fee is €113, Monthly fee is 480.25 over 51 weeks	5.33	4	21.32	113	0	04/11/2 024	31/08/2 025
Before & After School (3 days)	5y - 15y	SAC	No	07:30	08:30	13:40	18:00	Yes	Meal	Weekly fee is €94, Monthly fee is €399.50 over 51 weeks		3	15.99	94		04/11/2 024	31/08/2 025
Before & After School (1 Day)	5y - 15y	SAC	No	07:30	08:30	13:40	18:00	Yes	Meal	Weekly fee is €34, Monthly fee is 144.50 over 51 weeks	5.33	1	5.33	34		04/11/2 024	31/08/2 025
Full Day care over 2 years	2y - 3y	ELC	No	07:30	18:00			Yes	Meal	Weekly fee €239.02 Fees are paid in Monthly installments via direct debit. Monthly fee €1,015.84 over 51 weeks	10.5	5	52.5	239.02	0	27/01/2 025	31/08/2 025
Full Day care over 2 years	2y - 3y	ELC	No	07:30	18:00			Yes	Meal	Weekly fee is €199.18 Fees are paid in equal monthly installments via Direct debit. Monthly fee is €846.52	10.5	4	42	199.18	0	27/01/2 025	31/08/2 025

								over 51 weeks							
Full Day care over 2 years	2y - 3y	ELC	No	07:30	18:00	Yes	Meal	Weekly fee is €159.34 Fees are paid in equal monthly installments via Direct debit. Monthly fee €677.20 over 51 weeks	10.5	3	31.5	159.34	0	27/01/2 025	31/08/2 025
Full Day care over 2 years	2y - 3y	ELC	No	07:30	18:00	Yes	Meal	Weekly Fee is €119.51 Fees are paid in equal monthly installments via direct debit. Monthly fee is €507.92 over 51 weeks	10.5	2	21	119.51	0	27/01/2 025	31/08/2 025
Full Day care over 2 years	2y - 3y	ELC	No	07:30	18:00	Yes	Meal	Weekly Fee is €61.77 Fees are paid in equal monthly installments via direct debit. Monthly fee is €262.52 over 51 weeks	10.5	1	10.5	61.77		27/01/2 025	31/08/2 025
Full Day Care under 2 years	0y - 2y	ELC	No	07:30	18:00	Yes	Meal	Weekly fee is €239.02 Fees are paid in equal monthly installments via direct debit. Monthly fee is €1,015.84	10.5	5	52.5	239.02	0	27/01/2 025	31/08/2 025

									over 51 weeks							
Full day care under 2 years	0y - 2y	ELC	No	07:30	18:00		Yes	Meal	Weekly fee is €199.18 Fees are paid in equal monthly installments via direct debit. Monthly fee is €846.52 over 51 weeks	10.5	4	42	199.18	0	27/01/2 025	31/08/2 025
Full day care under 2 years	0y - 2y	ELC	No	07:30	18:00		Yes	Meal	Weekly fee is €119.51 Fees are paid in equal monthly installments via direct debit. Monthly fee is €507.92 over 51 weeks	10.5	2	21	119.51	0	27/01/2 025	31/08/2 025
Full day care under 2 years	0y - 2y	ELC	No	07:30	18:00		Yes	Meal	Weekly fee is 61.77 Fees are paid in equal monthly installments via direct debit. Monthly fee is €262.52 over 51 weeks	10.5	1	10.5	61.77	0	27/01/2 025	31/08/2 025
Full Day Care (Includin g ECCE Children)	2y 8m - 5y	ELC	Yes	07:30	18:00		Yes	Meal	Monthly fee is €1,015.84. Weekly fees with ECCE deduction is €190.96 ECCE Funding is deducted	10.5	5	52.5	239.02	190.96	27/01/2 025	31/08/2 025

After- School Only (1 day per week)	5y - 15y	SAC	No	14:00	18:00			Yes	Meal	over the full year in your monthly invoices. Weekly fee is €29.96, Monthly fee is €127.33 over 51 weeks	4	1	4	29.96		27/01/2 025	31/08/2 025
After- School Only (5 days per week)	5y - 15y	SAC	No	13:40	18:00			Yes	Meal	Weekly Fees €119.51, Monthly fee is €507.92 over 51 weeks	4.33	5	21.65	119.51	0	27/01/2 025	31/08/2 025
After- School Only (3 days per week)	5y - 15y	SAC	No	13:40	18:00			Yes	Meal	Weekly fee is €78.61, Monthly fee is €334.09 over 51 weeks	4.33	3	12.99	78.61	0	27/01/2 025	31/08/2 025
Before & Aftersch ool (4 days)	5y - 15y	SAC	No	07:30	08:30	13:40	18:00	Yes	Meal		5.33	4	21.32	119.51	0	27/01/2 025	31/08/2 025
Before & After- School (2 Days)	5y - 15y	SAC	No	07:30	08:30	13:40	18:00	Yes	Meal	Weekly fee is €71.89, Monthly fee is €305.53 over 51 weeks	5.33	2	10.66	71.89	0	27/01/2 025	31/08/2 025
Before & After School (1 Day)	5y - 15y	SAC	No	07:30	08:30	13:40	18:00	Yes	Meal	Weekly fee is €37.94, Monthly fee is € 161.25 over 51 weeks	5.33	1	5.33	37.94		27/01/2 025	31/08/2 025

Fee Extras

Туре	Extras	Amount	Description	Additional Details/Conditions	Effective From	Effective To
Additional Services		0	We do not offer optional extras		05/08/2024	31/08/2025

Deposit	304.95	ECCE Sessional Class: For children who do not qualify for the ECCE scheme a deposit of €304.95 is required.	ECCE Sessional Class: For children who do not qualify for the ECCE scheme a deposit of €304.95 is required.	05/08/2024	31/08/2025
Deposit	276	ECCE Sessional Class: A deposit of €276 is required for children who qualify for the ECCE scheme and start with Tigers Childcare, This will be refunded in line with the ECCE guidelines.		05/08/2024	31/08/2025
Discount		Staff discounts are granted at the discretion of the company. Discounts will vary depending on seniority of the staff member.		05/08/2024	31/08/2025
Deposit		A booking deposit, of 100% of fees per child is required. The balance of the deposit will be held on account for the duration of child's enrollment at Tigers Childcare. If your Child is offered a place and doesn't commence at the service your deposit will be forfeited		26/08/2024	31/08/2025
Deposit	418	ECCE Sessional Class: For children who do not qualify for the ECCE scheme a deposit of €418.00 is required.	ECCE Sessional Class: For children who do not qualify for the ECCE scheme a deposit of €418.00 is required.	16/09/2024	